FRI18FEE FIEPENCLRE

MBI OEVIFRIS ErRk185FE4A23H (A)
=] #R fiz K4 E EREES fiz K4 mE EREES fiz K4 mE EREES fiz K4 mE EREES
B [—#&[108 100m 1 & BN ESMBEXEK 10.91(+1.1) 2 BN BT 3= 11.36(+1.1) 3 5T Bl #MBEXREKX 11.44(+1.1) 4 i=N3 ) 11.55(-0.0)
F & 5 BB X  #BBEIXBEK 11.57(-0.0) 6 hE E#  KENPRO 11.61(-0.0) 7 Bk B HBIFEA 11.76(-0.0) 8 WA - BRXHAE ERE - 11.90
200m 1 £ BN MBXEX 22.09 2 BA A #MBXEKX 23.69 3 L# Eth  HE 23.80 4 ME HBE #BE 24.78
B:+05 |5 BA K #¥s 33.98 6 7 8
400m 1 B Mz  #HMEXEK 50.27 2 WHE KB MBXEKX 50.39 3 TE BN #WMBXHX 51.96 4 #iE et BES 53.71
5 EHH RE 8 54.71 6 M HRE #EE 55.11 7 8
800m 1 HE T HE 2.05.92 2 #E et BES 2.07.46 3 NE BE  H#S 2.12.90 4 Wi f2 ) 2.14.94
5 TH A&  #EBES 2.16.35 6 7 8
1500m 1 INE S 4.05.45 2 MAEXT  H#E 41212 3 MR BB E1 4.25.48 4 ERA M ) 4.25.72
5 SN EA e 4.36.59 6 hiE ES  #¥E 5.10.10 7 R BE  #Es 5.27.63 8 #HHA AE  #Es 5.32.59
100mH 1 = BE =) 16.61 2 3 4
RA:+04 [ 5 6 7 8
400mH 1 =E BE  #5 60.03 2 Tl & #S 64.41 3 Bs & [T 64.46 4
5 6 7 8
1 WA AR #RERXEIKA 43.12 2 hE-ET  #HEXEAB 43.32 3 A/ BES 46.22 4
4X100mR K- A BE5-58 HHE- /MK
5 6 7 8
Emsk |1 mE B4 LEER 1m90 2 &5 A HE XK 1m75 3 MR HE BB 1m70 4 B ® [T 1m65
5 B H2  #MEBEXEKX 1m55 6 2)Il & #HES 1m45 7 A EA  #ES 1m45 8
EERE | 1 EH #& ) 6m22(+0.6) 2 3 4
5 =R e 6m17(+0.7) 6 7 8
Ak |1 thE & £ 10m87 2 =EH = #Zs 10m66 3 A #Hhe #HES 9m91 4 MR A HE 8m95
54kg | 5 RE BE Ee 8m93 6 Bl TR #S 6m65 7 MR EZ HEE 5m83 8
ahi |1 hH = HBEHE 13m45 2 Eil B—  #HEXEX 10m30 3 ET Bt #SMBEXREKX 9m74 4
72kg |5 6 7 8
=B (1 EHE Bth 1) 13m65(—0.4) 2 3 4
5 6 7 8
FE(108 100m 1 Kl BEA  BREFHER 12.86 2 hH EE  KEEESISD 12.99 3 *=EH & AEELIST 13.30 4 IR k8 KEEESST 13.69
E:+04 |5 Bl = AEELIST 13.78 6 ® B AEELIST 14.02 7 8
200m 1 BH BX OREHES 26.15 2 Kb BEA  BREEES 26.46 3 &8 2 KEELESST 27.16 4 WA k8 KEEEIST 28.26
A:+00 [5 6 7 8
400m 1 BH BE  BREEHE 58.95 2 3 4
5 6 7 8
1500m 1 # #HE KEELESST 5.13.66 2 KB BX  KEEEHISD 5.23.23 3 EH 28 KEELIFD 5.27.86 4
5 6 7 8
1 WWAR-E%  KEELESSD 52.39 9 3 .
4X100mR L 3L L5
5 6 7 8
Empk |1 2 3 4
5 6 7 8
EEEE | 1 hi EE KEEESISD 5m20(+0.2) 2 # B KEELSSD 4m52(+0.4) 3 Bl 1= KEELESSD 4m51(+1.4) 4 =5 ER  AREEHES 4m21(+1.8)
5 6 7 8
aak |1 2 3 4
5 6 7 8
AR 100m 1 % HE  KERELIFD 14.68 (+0.9) 2 RE fith  KEEEHSSD 15.11(+1.1) 3 =& Wz KEEEYTD 15.49(+0.9) 4 SH B KEEEIST 15.80(+0.9)
BE:+11 [ 5 o #E  KEEEISD 15.81(+1.1) 6 xR B AEELDST 15.85(+1.1) 7 =& wth KEEEHSD 16.60(+1.1) 8 AP EkE  KEEESSD 16.62(+0.9)
1000m 1 #gE Kt KERELISD 3.18.94 2 =E w2z  KEELEISD 3.49.69 3 A &E  KEELISD 3.51.03 4 EH ME  KEELISD 357.23
5 ZE e  KEEEHSD 4.01.33 6 =8 wth KEEESSD 4.01.74 7 AE mifs  KEEEHSD 4.04.61 8
1 ZE-EH  KEEEISIA 61.13 2 AfE-BH  AEEESSIB 64.53 3 ZH-=E  KEEEYSIC 70.42 4
4X100mR w0 -8Rix [ITENP:5 KE-ER
5 6 7 8
E=pk |1 2 3 4
5 6 7 8
EiEE |1 BRE fith KERELSTD 3m89(+1.0) 2 £ HE  AEEEYSD 3m83(+1.6) 3 WA RE  KEEEIST 3m53(+1.4) 4 Eik K KERELSSD 3m50(+0.2)
5 EH MR KEEELIST 3m39(+0.0) 6 7 8




18 1
23
23 100m 1 1222 2 1243 3 1271 4 12.86
+0.4 5 1329 6 1342 7 14.86 8
200m 1 25.76 2 26.41 3 26.44 4 2712
+15 5 6 7 8
400m 1 58.86 2 61.26 3 62.01 4 66.92
5 6757 6 69.53 7 8
800m 1 2.31.15 2 2.36.31 3 2.38.72 4 2.49.80
5 6 7 8
1500m 1 5.11.55 2 5.24.67 3 5.26.94 4 6.17.54
5 6 7 8
100 H 1 16.45 2 17.98 3 18.08 4 19.72
+0.9 5 6 7 8
400mH 1 63.23 2 69.02 3 72.86 4 7521
5 6 7 8
1 48.65 2 49.28 3 49.90 4 52.46
4X100mR
5 5442 6 7 8
1 1m55 2 1m25 3 1m25 4
5 6 7 8
1 5m38(+2.0) 2 5m29(+1.8) 3 5m25(+1.2) 4 4m86(+1.8)
5 4m70(+1.4) 6 4m55(+1.8) 7 4m40(+1.0) 8 4m25(+0.6)
1 11m34(+0.0) 5 10m98(+0.0) 3 10m90(+0.9) 4 10m16(+1.0)
5 6 7 8
1 9m43 2 7m91 3 6m40 4 6m13
4.0kg 5 5m75 6 4m90 7 8
23 100m 1 13.06( 1.3) 2 13.85( 0.7) 3 14.12( 13) 4 1421( 133)
5 14.24( 13) 6 14.25(_0.7) 7 14.26(_0,7) 8 14.36( 1.3)
200m 1 29.32 2 29.83 3 4
+0.7 5 6 7 8
400 1 2 3 4
5 6 7 8
1500 1 5.21.70 2 3 4
5 6 7 8
100mH 1 2 3 4
5 6 7 8
1 55.74 2 58.04 3 4
4X100mR
5 6 7 8
1 2 3 4
5 6 7 8
1 4m80(  2.0) 2 4m44( 14) | 3 4m02( 16) | 4 3m98( 1.0
5 3m76( 14) 6 3m75( 12) | 7 3.32(_ 0.6 8
1 2 3 4
5 6 7 8
23 100m 1 15.09( 2.0) 2 15.14( 1.9) 3 15.19( 1.9) 4 15.45( 1.9)
5 15.47(_2.0) 6 15.88(_2.0) 7 15.92( 1.9) 8 16.34(_2.0)
800m 1 24217 2 2.56.80 3 3.02.11 4 3.06.20
5 3.15.73 6 3.17.33 7 8
80 H 1 2 3 4
5 6 7 8
1 58.99 2 62.74 3 66.17 4 67.43
4X100mR
5 6 7 8
1 2 3 4
5 6 7 8
1 3m61( 0.6) 2 3m50( 1.8) | 3 3m46( 12) | 4 3m31( 1.4)
5 3m24(_ 1.0) 6 3mi9( 10) 7 3mi3( 12) 8 3m04(_ 1.6)






